Multiplying 2-digit by 1-digit Numbers



$$20 imes 3 =$$

$$40 \times 4 = \underline{\hspace{1cm}}$$

4	Calculate

$$24 imes 2 = \underline{\hspace{1cm}}$$

$$41 \times 6 = \underline{\hspace{1cm}}$$



$$15 imes 4 = \underline{\hspace{1cm}}$$





78 × 6 = ____

Multiplying 2-digit by 1-digit Numbers



$$20 imes 3 =$$

Solution
$$20 \times 3 = 60$$

Solution
$$40 \times 4 = 160$$

$$70 \times 5 =$$

Solution
$$70 \times 5 = 350$$

$$32 imes 3 =$$



Solution
$$32 \times 3 = 96$$

$$24 \times 2 = \underline{\hspace{1cm}}$$

Solution
$$24 \times 2 = 48$$

$$41 \times 6 =$$

Solution
$$41 \times 6 = 246$$

Solution
$$84 \times 7 = 588$$

$$15 imes 4 =$$

Solution
$$15 \times 4 = 60$$

9 Calculate:

$$37 \times 3 =$$

Answer 111

Solution $37 \times 3 = 111$

10 Calculate:

Answer 468

Solution $78 \times 6 = 468$